MATH 2 EXAM #4 NAME: Kery- .

10.

Find the cxact value of each of the followings:

11
a. tan(75°) b. sin(165°) c cosl—;
. . 4 1 .
Two angles a and # are in the same quadrant, sina = -3 and tan B = e Find:
a. sin(a+ f) b. cos(a + ) d. the quadrant containing o + 2.

Rewrite cos(3x) in terms of a single angle x.

Rewrite cos® x without any exponents.
Find all the solutions: sin 4x—tan2x=0
Verify each of the following identities by transforming one side to the next:

'l_sfnoz(secﬁ—tanﬂ)z b, co§2a =cota—1
1+sin & 1+sin2a cota+1

Evaluate each of the followings:

X -3 . . !
4. sin arccos? b, sin 2arcsm—4—

Sketch the graph of each of the following trigonometric functions:

a. y=3tan(—2x-%j b. y=sec(2x+%]

An airplane that is flying horizontally, passes from a point exactly above your location. You
notice that at some point the angle of clevation of the plane is 29°. After 5 seconds, the angle
elevation of the plane is 25°, If the plane is traveling at speed of 100 ft per second, what is the
altitude of the plane?

(EXTRA CREDIT) Express the following expression in terms of a single cosine term. That is:
acosx —bsinx =(?)cos(?)
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